

Generalized bounds for hyperbolic sine and hyperbolic cosine functions*

Ramkrishna M. Dhaigude¹, Yogesh J. Bagul² and Vinay M. Raut³

¹Department of Mathematics, Government Vidarbha Institute of Science and Humanities, Amravati(M. S.) - 444604, India

²Department of Mathematics, K. K. M. College, Manwath, Dist: Parbhani(M.S.) - 431505, India

³Department of Mathematics, Shri. Shivaji Science College, Amravati(M. S.) - 444603, India

E-mail: rmdhaigude@gmail.com, yjbagul@gmail.com, vinayraut18@gmail.com

Abstract

The main objective of this paper is to establish several new lower and upper bounds for the functions $\sinh x/x$ and $\cosh x$. Following the simple approach, our results give refinements and generalizations of some known inequalities involving these functions.

2010 Mathematics Subject Classification. **26D07**. 26D20, 33B10.

Keywords. generalized bounds, l'Hôpital's rule of monotonicity, power series, hyperbolic functions.

1 Introduction

Inequalities involving hyperbolic functions are as much important as inequalities involving trigonometric functions. Recently many researchers established hyperbolic inequalities(see e.g. [3], [4], [5], [6], [7], [8], [11], [12], [13], [14], [15], [16] and references therein). We start by giving a brief summary of already proved results pertaining to the main results of this paper.

The inequalities

$$1 + \frac{x^2}{6} < \frac{\sinh x}{x} < 1 + \frac{x^2}{k_1}; 0 < x < 1 \quad (1.1)$$

where $k_1 \approx 5.707724$ and

$$1 + \frac{x^2}{2} < \cosh x < 1 + \frac{x^2}{k_2}; 0 < x < 1 \quad (1.2)$$

where $k_2 \approx 1.841348$ are proved in [3] and [6] respectively. Recently, Christophe Chesneau and Yogesh J. Bagul [8] established the following results:

$$\left(1 + \frac{x^2}{\pi^2}\right)^{\frac{\pi^2}{6}} < \frac{\sinh x}{x}; x > 0 \quad (1.3)$$

and

$$\left(1 + \frac{4x^2}{\pi^2}\right)^{\frac{\pi^2}{8}} < \cosh x; x > 0. \quad (1.4)$$

Before the establishment of above inequalities, Ling Zhu [16] in 2008, discovered some inequalities having similarity with these inequalities. Zhu's inequalities are stated as

*This paper is dedicated to Professor Edward Neuman on his 77th birthday

Statement 1. ([16]) Let $0 < x < r$. Then

$$\left(\frac{r^2 + x^2}{r^2 - x^2}\right)^\alpha < \frac{\sinh x}{x} < \left(\frac{r^2 + x^2}{r^2 - x^2}\right)^\beta \quad (1.5)$$

holds if and only if $\alpha \leq 0$ and $\beta \geq \frac{r^2}{12}$.

Statement 2. ([16]) Let $0 < x < r$. Then

$$\left(\frac{r^2 + x^2}{r^2 - x^2}\right)^\alpha < \cosh x < \left(\frac{r^2 + x^2}{r^2 - x^2}\right)^\beta \quad (1.6)$$

holds if and only if $\alpha \leq 0$ and $\beta \geq \frac{r^2}{4}$.

In this paper, we aim to refine and generalize all the inequalities listed above.

2 Preliminaries and lemmas

We are familiar with the following power series expansions [9, 1.411]:

$$\sinh x = \sum_{n=0}^{\infty} \frac{x^{2n+1}}{(2n+1)!}, \text{ and } \cosh x = \sum_{n=0}^{\infty} \frac{x^{2n}}{(2n)!}. \quad (2.1)$$

The series expansions in (2.1) are useful for our main results. We also need the following two known results.

Lemma 2.1. ([2, p. 10]) Let $f, g : [a, b] \rightarrow \mathbb{R}$ be continuous. Moreover, let f, g be differentiable on (a, b) and $g'(x) \neq 0$, on (a, b) . Let,

$$A_1(x) = \frac{f(x) - f(a)}{g(x) - g(a)}, A_2(x) = \frac{f(x) - f(b)}{g(x) - g(b)}, x \in (a, b).$$

- (i) $A_1(\cdot)$ and $A_2(\cdot)$ are increasing(strictly increasing) on (a, b) if $f'(\cdot)/g'(\cdot)$ is increasing(strictly increasing) on (a, b) .
- (ii) $A_1(\cdot)$ and $A_2(\cdot)$ are decreasing(strictly decreasing) on (a, b) if $f'(\cdot)/g'(\cdot)$ is decreasing(strictly decreasing) on (a, b) .

The Lemma 2.1 is known in the literature as l'Hôpital's rule of monotonicity. For Lemma 2.2 refer [1, 10].

Lemma 2.2. ([1, 10]) Let $A(x) = \sum_{n=0}^{\infty} a_n x^n$ and $B(x) = \sum_{n=0}^{\infty} b_n x^n$ be convergent for $|x| < R$, where a_n and b_n are real numbers for $n = 0, 1, 2, \dots$ such that $b_n > 0$. If the sequence a_n/b_n is strictly increasing(or decreasing), then the function $A(x)/B(x)$ is also strictly increasing(or decreasing) on $(0, R)$.

Lemma 2.1 and Lemma 2.2 have been proved to be important tools in the field of inequalities.

3 Main results

The first result of the paper states

Theorem 3.1. Let $x \in (0, r)$ where $r \in (0, \infty)$. Then the function $F(x) = \frac{\log(\frac{\sinh x/x}{\log(1+ax^2)})}{\log(1+ax^2)}$ is strictly increasing on $(0, r)$ if $a \geq \frac{1}{15}$. In particular, with this fixed value of a , the best possible constants α and β such that

$$(1 + ax^2)^\alpha < \frac{\sinh x}{x} < (1 + ax^2)^\beta \quad (3.1)$$

are $\frac{1}{6a}$ and $\frac{\log(\frac{\sinh r/r}{\log(1+ar^2)})}{\log(1+ar^2)}$ respectively. i.e. the inequalities (3.1) hold if and only if $\alpha \leq \frac{1}{6a}$ and $\beta \geq \frac{\log(\frac{\sinh r/r}{\log(1+ar^2)})}{\log(1+ar^2)}$.

Proof. Consider

$$F(x) = \frac{\log\left(\frac{\sinh x}{x}\right)}{\log(1+ax^2)} = \frac{F_1(x)}{F_2(x)}$$

where $F_1(x) = \log\left(\frac{\sinh x}{x}\right)$ and $F_2(x) = \log(1+ax^2)$ with $F_1(0+) = 0 = F_2(0)$. After differentiating

$$\begin{aligned} \frac{F_1'(x)}{F_2'(x)} &= \frac{1}{2a}(1+ax^2) \left(\frac{x \cosh x - \sinh x}{x^2 \sinh x} \right) \\ &= \frac{1}{2a} \left(\frac{\coth x}{x} - \frac{1}{x^2} + ax \coth x - a \right) \\ &= \frac{1}{2a} F_3(x). \end{aligned}$$

Now $F_3(x)$ is increasing if and only if $F_3'(x) > 0$. Consequently, by using Lemma 2.1 we can conclude that $F(x)$ will be increasing if $F_3'(x) > 0$. This means

$$\left[2 - \left(\frac{x}{\sinh x} \right)^2 - \frac{x}{\tanh x} \right] > ax^2 \left[\left(\frac{x}{\sinh x} \right)^2 - \frac{x}{\tanh x} \right]$$

which is equivalent to

$$\frac{\left[2 - \left(\frac{x}{\sinh x} \right)^2 - x \coth x \right]}{x^2 \left[\left(\frac{x}{\sinh x} \right)^2 - x \coth x \right]} < a,$$

due to well known relation $\left(\frac{x}{\sinh x}\right)^2 < 1 < \frac{x}{\tanh x}$. Thus $F_4(x) < a$, where

$$\begin{aligned} F_4(x) &= \frac{\left[2 - \left(\frac{x}{\sinh x} \right)^2 - x \coth x \right]}{x^2 \left[\left(\frac{x}{\sinh x} \right)^2 - x \coth x \right]} = \frac{2 \sinh^2 x - x^2 - x \sinh x \cosh x}{x^2(x^2 - x \sinh x \cosh x)} \\ &= \frac{2 \cosh 2x - 2 - 2x^2 - x \sinh 2x}{2x^4 - x^3 \sinh 2x}. \end{aligned}$$

Utilizing (2.1) we get

$$\begin{aligned}
F_4(x) &= \frac{\sum_{n=0}^{\infty} \frac{2^{2n+1}}{(2n)!} x^{2n} - 2 - 2x^2 - \sum_{n=0}^{\infty} \frac{2^{2n+1}}{(2n+1)!} x^{2n+2}}{2x^4 - \sum_{n=0}^{\infty} \frac{2^{2n+1}}{(2n+1)!} x^{2n+4}} \\
&= \frac{\sum_{n=2}^{\infty} \frac{2^{2n+1}}{(2n)!} x^{2n} - \sum_{n=2}^{\infty} \frac{2^{2n-1}}{(2n-1)!} x^{2n}}{-\sum_{n=3}^{\infty} \frac{2^{2n-3}}{(2n-3)!} x^{2n}} \\
&= \frac{\sum_{n=3}^{\infty} \left[\frac{2^{2n-1}}{(2n-1)!} - \frac{2^{2n+1}}{(2n)!} \right] x^{2n}}{\sum_{n=3}^{\infty} \frac{2^{2n-3}}{(2n-3)!} x^{2n}} = \frac{\sum_{n=0}^{\infty} a_n x^{2n}}{\sum_{n=0}^{\infty} b_n x^{2n}} = \frac{A(x)}{B(x)}.
\end{aligned}$$

Clearly $A(x)$ and $B(x)$ are convergent by ratio test and

$$\frac{a_n}{b_n} = \frac{4(n-2)}{n(2n-1)(2n-2)} = c_n(\text{say}).$$

We claim that $c_n > c_{n+1}$. For if $c_n \leq c_{n+1}$, then it implies $2(2n-2)(n+1)(2n+1) \leq (n-1)(2n-1)(2n-2)$, i.e. $4n^2 - 9n - 1 \leq 0$ or $n \leq \frac{9+\sqrt{97}}{8} < \frac{19}{8} < 3$, which contradicts to $n \geq 3$. Therefore, a sequence $\left\{ \frac{a_n}{b_n} \right\}$ is strictly decreasing and $b_n > 0, \forall n \geq 3$. By Lemma 2.2, $F_4(x)$ is strictly decreasing on $(0, r)$. So, $\sup \{F_4(x) : x > 0\} \leq a$ and $\lim_{x \rightarrow 0^+} F_4(x) = \frac{1}{15}$ gives $a \geq \frac{1}{15}$. Now $F(x)$ is increasing and we have

$$\lim_{x \rightarrow 0^+} F(x) \leq F(x) \leq \lim_{x \rightarrow r^-} F(x).$$

Lastly, $\lim_{x \rightarrow 0^+} F(x) = \frac{1}{6a}$ by l'Hôpital's rule and $\lim_{x \rightarrow r^-} F(x) = \frac{\log(\sinh r/r)}{\log(1+ar^2)}$ finish the proof. Q.E.D.

We prove our second result without making use of power series expansions in (2.1).

Theorem 3.2. Let $x \in (0, r)$ where $r \in (0, \infty)$. Then the function $G(x) = \frac{\log(\cosh x)}{\log(1+ax^2)}$ is strictly increasing on $(0, r)$ if $a \geq \frac{1}{3}$. In particular, the best possible constants γ and δ such that

$$(1+ax^2)^\gamma < \cosh x < (1+ax^2)^\delta \tag{3.2}$$

are $\frac{1}{2a}$ and $\frac{\log(\cosh r)}{\log(1+ar^2)}$ respectively. i.e. the inequalities (3.2) hold if and only if $\gamma \leq \frac{1}{2a}$ and $\delta \geq \frac{\log(\cosh r)}{\log(1+ar^2)}$.

Proof. Consider

$$G(x) = \frac{\log(\cosh x)}{\log(1+ax^2)} = \frac{G_1(x)}{G_2(x)}$$

where $G_1(x) = \log(\cosh x)$ and $G_2(x) = \log(1+ax^2)$ with $G_1(0) = G_2(0) = 0$. Differentiating

$$\frac{G_1'(x)}{G_2'(x)} = \frac{1}{2a} \frac{(1+ax^2) \sinh x}{x \cosh x} = \frac{1}{2a} G_3(x)$$

where $G_3(x) = \frac{(1+ax^2)\sinh x}{x \cosh x}$. Obviously, $\frac{G'_1(x)}{G'_2(x)}$ is increasing if and only if $G'_3(x) > 0$. By Lemma 2.1, $G(x)$ will be increasing if $G'_3(x) > 0$. That means

$$x \cosh^2 x - \sinh x \cosh x - x \sinh^2 x > ax^2 (-\sinh x \cosh x + x \sinh^2 x - x \cosh^2 x).$$

Or

$$\frac{(x \cosh^2 x - \sinh x \cosh x - x \sinh^2 x)}{x^2 (-\sinh x \cosh x + x \sinh^2 x - x \cosh^2 x)} = G_4(x) < a$$

due to the fact that $\tanh x < \coth x$. $G_4(x)$ can be written as

$$G_4(x) = \frac{2x - \sinh 2x}{-x^2(2x + \sinh 2x)} = \frac{G_5(x)}{G_6(x)}$$

where $G_5(x) = 2x - \sinh 2x$ and $G_6(x) = -2x^3 - x^2 \sinh 2x$ satisfying $G_5(0) = G_6(0) = 0$. Differentiation gives

$$\frac{G'_5(x)}{G'_6(x)} = \frac{2 - 2 \cosh 2x}{-6x^2 - 2x^2 \cosh 2x - 2x \sinh 2x} = \frac{G_7(x)}{G_8(x)}$$

with $G_7(0) = 0 = G_8(0)$. Continuing the argument

$$\frac{G'_7(x)}{G'_8(x)} = \frac{2 \sinh 2x}{6x + 2x^2 \sinh 2x + 4x \cosh 2x + \sinh 2x} = \frac{G_9(x)}{G_{10}(x)}.$$

Further

$$\begin{aligned} \frac{G'_9(x)}{G'_{10}(x)} &= \frac{4 \cosh 2x}{6 + 12x \sinh 2x + 4x^2 \cosh 2x + 6 \cosh 2x} \\ &= \frac{4}{6 \operatorname{sech} 2x + 12x \tanh 2x + 4x^2 + 6} = \frac{2}{G_{11}(x)} \end{aligned}$$

Now $G'_{11}(x) = 6 \tanh 2x(1 - \operatorname{sech} 2x) + 12x \operatorname{sech}^2 x + 4x > 0$ implies $G_{11}(x)$ is strictly increasing on $(0, r)$. By Lemma 2.1, $G_4(x)$ is also decreasing on $(0, r)$. Therefore, $\sup \{G_4(x) : x \in (0, r)\} \leq a$ and $\lim_{x \rightarrow 0^+} G_4(x) = \frac{1}{3}$ gives $a \geq \frac{1}{3}$. Now $G(x)$ being increasing in $(0, r)$ for specified values of a , we have that

$$\lim_{x \rightarrow 0^+} G(x) < G(x) < \lim_{x \rightarrow r^-} G(x).$$

Finally, $\lim_{x \rightarrow 0^+} G(x) = \frac{1}{2a}$ and $\lim_{x \rightarrow r^-} G(x) = \frac{\log(\cosh r)}{\log(1+ar^2)}$ prove the desired result. Q.E.D.

4 Applications

Double inequalities in (1.1) is a particular case of Theorem 3.1 where $a = 1/6$ and $r = 1$. On a similar line inequality (1.3) can be obtained by taking $a = 1/\pi^2$ in (3.1). To get the sharpest inequality of this kind we put $a = 1/15$ in Theorem 3.1. It is stated as follows:

$$\left(1 + \frac{x^2}{15}\right)^{\frac{5}{3}} < \frac{\sinh x}{x} < \left(1 + \frac{x^2}{15}\right)^{\beta_1} \quad ; x \in (0, r) \text{ where } r \in (0, \infty) \quad (4.1)$$

and $\beta_1 = \frac{\log(\sinh r/r)}{\log(1+r^2/15)}$. Two sided inequality in (4.1) is a refinement and (or) generalization of inequalities in (1.1), (1.3) and (1.5).

On the other hand, inequalities in(1.2) and (1.4) are particular cases of Theorem 3.2 where $a = 1/2(r = 1)$ and $a = 4/\pi^2$ respectively. The sharpest inequality of this kind is obtained by putting $a = 1/3$ in Theorem 3.2 as follows:

$$\left(1 + \frac{x^2}{3}\right)^{\frac{3}{2}} < \cosh x < \left(1 + \frac{x^2}{3}\right)^{\delta_1}; x \in (0, r) \text{ where } r \in (0, \infty) \quad (4.2)$$

and $\delta_1 = \frac{\log(\cosh x)}{\log(1+r^2/3)}$. Again two sided inequality in (4.2) is a refinement and (or) generalization of inequalities in (1.2), (1.4) and (1.6).

At the end we state and prove the following proposition:

Proposition 4.1. Let $x > 0$. Then

$$1 + \frac{x^2}{6} < \left(\frac{1 + \cosh x}{2}\right)^{\frac{2}{3}}. \quad (4.3)$$

Proof. Set

$$H(x) = 2 \left(1 + \frac{x^2}{6}\right)^{\frac{3}{2}} - \cosh x.$$

On differentiating

$$H'(x) = x \left[\left(1 + \frac{x^2}{6}\right)^{\frac{1}{2}} - \frac{\sinh x}{x} \right] < 0,$$

as $\left(1 + \frac{x^2}{6}\right)^{\frac{1}{2}} < 1 + \frac{x^2}{6} < \frac{\sinh x}{x}$ by Theorem 3.1. Hence $H(x)$ is strictly decreasing for $x > 0$. So $\lim_{x \rightarrow 0} H(x) = 1 > H(x)$ gives the desired inequality. Q.E.D.

Remark 4.2. Combining inequality (4.3) with the inequality [14, Thm. 2.3]

$$\left(\frac{1 + \cosh x}{2}\right)^{\frac{2}{3}} < \frac{\sinh x}{x}$$

we get

$$1 + \frac{x^2}{6} < \left(\frac{1 + \cosh x}{2}\right)^{\frac{2}{3}} < \frac{\sinh x}{x}.$$

5 Conclusion

We obtained several inequalities involving $\sinh x/x$ and $\cosh x$, thus refined some known inequalities in the literature with a complete new approach.

References

- [1] H. Alzer, and S. L. Qiu, *Monotonicity theorems and inequalities for the complete elliptic integrals*, J. Comput. Appl. Math., 172, pp. 289-312, 2004.
- [2] G. D. Anderson, M. K. Vamanamurthy and M. Vuorinen, *Conformal Invariants, Inequalities and Quasiconformal maps*, John Wiley and Sons, New York, 1997.
- [3] Y. J. Bagul, *On simple Jordan type inequalities*, Turkish Journal of Inequalities, Vol. **3**, No. 1, pp. 1-6, 2019.
- [4] Y. J. Bagul *On exponential bounds of hyperbolic cosine*. Bulletin Of The International Mathematical Virtual Institute, Vol. **8**, No. 2, pp. 365-367, 2018.
- [5] Y. J. Bagul and C. Chesneau, *Some new simple inequalities involving exponential, trigonometric and hyperbolic functions*, Cubo, Vol. **21**, No. 1, 21-35, 2019. Online: <https://doi.org/10.4067/S0719-06462019000100021>
- [6] Y. J. Bagul and S. K. Panchal, *Certain inequalities of Kober and Lazarević type*, 21(2018), Art. 137, 8 pp.
- [7] B. A. Bhayo, R. Klén and J. Sándor, *New trigonometric and hyperbolic inequalities*, Miskolc Math. Notes, Vol. **18**, No. 1, pp. 125-137, 2017.
- [8] C. Chesneau, and Y. J. Bagul, *A note on some new bounds for trigonometric functions using infinite products*, Malays. J. Math. Sci., Vol. **14**, No. 2, pp. 273-283, 2020.
- [9] I. S. Gradshteyn and I. M. Ryzhik, *Table of Integrals, Series and Products*. Elsevier, edn. 2007.
- [10] V. Heikkala, M. K. Vamanamurthy, and M. Vuorinen, *Generalized elliptic integrals*, Comput. Methods Funct. Theory, Vol. **9**, No. 1, pp. 75-109, 2009.
- [11] R. Klén, M. Visuri and M. Vuorinen, *On Jordan type inequalities for hyperbolic functions*, J. Inequal. Appl., Vol. 2010, Article no. 362548, 2010.
- [12] E. Neuman, *Refinements and generalizations of certain inequalities involving trigonometric and hyperbolic functions*, Advances in Inequalities and Applications, Vol. **1**, No. 1, pp. 1-11, 2012.
- [13] F. Qi, D.-W. Niu, and B.-N. Guo, *Refinements, Generalizations and Applications of Jordans inequality and related problems*, Journal of Inequalities and Applications, Vol. **2009**, Article ID 271923, 52 pp., 2009.
- [14] J. Sándor, *Sharp Cusa-Huygens and related inequalities*, Notes on Number Theory and Discrete Mathematics, Vol. **19**, No. 1, pp. 50-54, 2013. Online: <https://doi.org/10.7253/jmi-07-37>
- [15] L. Zhu, *New inequalities for hyperbolic functions and their applications*, Journal of Inequalities and Applications, Vol. **2012**, 303, 2012. Online: <https://doi.org/10.1186/1029-242X-2012-303>
- [16] L. Zhu and J. Sun, *Six new Redheffer-type inequalities for circular and hyperbolic functions*, Comput. Math. Appl., Volume **56**, pp. 522-529, 2008.